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Suppose  there are many threads in each Client  sending requests to different Servers (Server1/Server2) 

simultaneously We know that in Glacier2, there is a RequestQueue1 corresponding to Client1, and that all 

requests from Client1 are cached in RequestQueue1.

Suppose there are 3 requests in RequestQueue1 now: request-a(to Server1) , request-b(to Server2) , request-

c(to Server2) . If Server1 runs very slowly for some reason and has no time to receive requests on the wire, the 

AMI call (request-a/request-b) to Server1 in RequestQueue1 will be blocked.
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RequestQueue1 [ request-a(to Server1) , request-b(to Server2) , request-c(to Server2)]


Suppose  there are many threads in each Client  sending requests to different Servers (Server1/Server2) simultaneously We know that in Glacier2, there is a RequestQueue1 corresponding to Client1, and that all requests from Client1 are cached in RequestQueue1.

Suppose there are 3 requests in RequestQueue1 now: request-a(to Server1) , request-b(to Server2) , request-c(to Server2) . If Server1 runs very slowly for some reason and has no time to receive requests on the wire, the AMI call (request-a/request-b) to Server1 in RequestQueue1 will be blocked.
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